2015 NJCL Greek Language Test

Contest ID: 1022

Vocabulary: Choose the English word which BEST translates the given Greek word or phrase.

. Opotog

. TPOTOG

. YAOO®

. TayOg

. AyYEM®

. Bpaydg

. TAE®

. O0te

. GOUPLOYOG
10. ndovn
11. ixB0¢
12. 6edpo
13. &mopon
14. vécog
15. éopn
16. aitiog
17. amhidg
18. compia
19. piyvour
20. avpiov
21. xoéopog
22. apyn
23. opaw
24. mpiv

25. aiviypo
26. &tog

27. pépw
28. peidopon
29. yiyvioK®
30. déyopan
31. émhov
32. tinu
33. yokemog
34. movog
35. mepam
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Synonyms: Choose the best Greek SYNONYM for the give word.

36. AiBog
37. xk6pog
38. 0&0¢
39. oioc
40. keipon

A. like

A. food

A. be unseen
A. swift

A. care for
A. wicked
A. be defeated
A. ten

A. long

A. goddess
A. justice

A. hither

A. scream
A. origin

A. festival
A. responsible
A. simply
A. temple

A. destroy

. tomorrow
.arm

. shackle
cleave

no longer
riddle

fig

carry
command
know

. make a treaty
. Show

. devise

A. difficult
A. work

A. fight

S22

A. B0pa
A. Din

A. apprdg
A. novog
A. Tovém
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B.
B.
B.
B.
B.

. cowardly
. misfortune
.err

. holy
.slip

. short

. anticipate
. about

. precise

. pleasure

. witness
.again

. hasten

. signal

. advantage
. live

. close

. equipment
. goad

. surely

. order

. danger

. report

. Immediately
. dawn

. nose

. set

. hang

. rejoice

. suspect

. glory

. set

. straight

. peace
.turn

VAG0G
veaviag
Hwpog
ppiog
KaOevO®
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. Clear

. year

. carve

. entire

. report

. quiet

. lament

. when

. clever

. door

. fish

. quickly
. follow

. soldier

. woods
.complete
. except

. darkness
. pursue

. in order to
. bread
.origin

. burn

. before

. treaty

. soldier
.let go

. investigate
. heal

. weave

. tool

. provide
. proud

. bed

. dedicate

. TETPAL

. LOPTLG
. GOQOG
. €00°0¢

. Kapvo
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. one
. custom

. leap

. little

. seize

. latter

. sail

. excessively
. allied

. meal

. death

. through
. help

. disease
. father

. plain

. opposite
. safety

. Mix

. at once

. marvel

. funeral

. see

. yet

. orator

. year

. produce
. spare

. throw

. receive
. skin

. gird

. gracious
. satrap

. attempt

. KapOg

. Ovog

. TaA0G

. KOKOG

. TEVOLLOL



Antonyms: Choose the best Greek ANTONYM for the give word.

41. poAoxog A. 1ovg B. yAvkig C. néhag D. tpoydg
42. néharyog A. tdvtog B. xdua C.7q D. GAg
43. xopilw A. 1pépw B. kteivo C. idopan D. dxéopan
44, tépnw A. Bodwm B. BopvPém C. abvpém D. xpélw
45. Baive A. pévo B. nélno C. ddw D. ynpvo
Grammar, morphology, and syntax: Choose the BEST answer to the question.
46. What tense is the verb form BovAevovtat, (wish)?
A. present B. imperfect C. aorist D. future
47. Which of the following is the correct singular imperative of tiudm?
A. Tipav B. tipa C. novtov D. tudoOon
48. Which is the correct perfect active participle of oido (know)?
A. ict B. €idévar C. &ldmg D. fjdewv
49. What participial use is found in this sentence: kainep voodv yolemnv vocov €i¢ v dyopdv NADE.
A. conditional B. causal C. concessive D. temporal
50. What use of the infinitive is found in this sentence: pé\eic, @ 0d, TV KOpNV €ic Séomovay GALGEEY?
A. natural result B. purpose C. epexegetical D. complementary
51. Which of the following is the feminine genitive singular of the adjective mag?
A. Tavtodg B. mévtog C. mavtoug D. ndong
52. Which set of correlatives is synomous with obte...o0te?
A. motepoV...1 B. &ite...gl1e C. pnre...unte D. xoai...xai
53. Which of the following is not accusative?
A. domida B. vodv C. xyopa D. ybpwv
54. Which gender can take a singular verb even when the subject is plural?
A. masculine B. feminine C. neuter D. common
55. For which verb does the deponent verb aliockopat provide most of passive forms?
A. aipéo B. oida C. épyduon D. oiyopat
56. In which of the following noun-adjective phrases is the adjective in the predicate position?
A. 10 téxvov 10 dyaBov  B. 10 tévov dyabov C. 10 dyaBov tékvov D. tékvov 10 dyaB6v
57. What is the correct accentuation and syllable for the following verb form: ieivpevn?
A. acute, antepenult B. acute, penult C. circumflex, antepenult D. circumflex, penult
58. What is the correct comparative form of péyoc?
A. peilov B. pecaitatog C. péywotog D. peotautepog
59. Which of the following reflexive pronouns is not properly paired with its plural?
A. gpovtod : Mudv adtdv B. Eavty : Eavtdc C. oeavtov : vuag avtovg D. pavtii : by avtolg
60. Which of the following phrases illustrates a genitive of agent?
A. &€ uepdv B. mepi tiig dpethic C. 1o Bedv D. avti moAépov
61. What conjunction means “than” with types of comparison?
A iva B. 1 C. aAAG D. émei
62. What is the correct nominative/accusative plural form for dotv (city)?
A. dotemg B. dioter C. dom D. doteot
63. Which of the following means “rather swiftly”?
A. Bdttov B. tayeog C. oot D. tayémg
64. What use of the accusative is found in this sentence: dya0dc péymv o0Tog 6 GTPUTIOTNC.
A. adverbial B. respect C. cognate D. extent
65. Which of the following prepositions can appear with the genitive, dative, and accusative cases?
A. petd B. katd C. Omo D. obv
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66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

83.

84.

Which is a correct translation of this sentence: fjv peyéin eov t® dyyélo Hdote mavieg fKovov.
A. The messenger was speaking loudly in order to be heard by all.
B. The messenger had a loud voice so that all heard.
C. The messenger had such a loud voice that everyone heard.
D. The messenger was speaking so loudly that he was heard by all.
Which form of coepwv (wise) correctly modifies eviaxog (guard)?

A. coppoveg B. coppov C. coppova D. coppovoag
What is the dative plural of 6vydtmp?
A. Buyatépot B. Buyatpdot C. Buyatpot D. 6vyatiot
Which of the following is a dual form of viog, son?
A. vioig B. vieig C. viod D. viéow
Which of the following pronouns is a demonstrative meaning “this”?
A. tig, Tl B. éuog, éun, éuov C. 60¢, )0€, 100¢ D. avtdg, avtn, avtd
What is the aorist active participle of iotnu, stand?
A. o10c B. iotd¢g C. iotdpevog D. éomkaog
Which of the following is the best translation of the sentence: &nepyav innéag Og dyyelodvog Ty viknv.
A. They send horsemen to announce victory. C. They, about to announce victory, sent horsemen.
B. They sent horsemen to announce victory. D. They, announcing victory, send horsemen.
What kind of clause/construction is found in this sentence: tov otpatnydv oOKETL VOGETV T)yodVTaL.
A. indirect statement B. articular infinitive C. purpose D. temporal
Which of the following is not a cardinal number?
A. €ic, pla, &v B. dwdékatog C. éxatov D. yihot
What is the correct vocative of faciievg, king?
A. BactAémg B. Baciiel C. Baothedg D. Bactied
What use of the participle is found in this sentence: &p&opat Tovg TaTEPOS ETUVADV.
A. absolute B. circumstantial C. purpose D. supplementary
What form is dokei?
A. active indicative B. active imperative C. passive subjunctive  D. passive optative
Which of the following sentences expresses an optative of wish?
A. ovK Gv AobBein 1 gipévn. C. el yop pfj vik®@ev ol moAépiot.
B. éav tobto momon, diknv un doin. D. cwoglev av 6 0e0¢ TV TOAWY.
Which of the following correctly translates: If you sacrifice to the gods, they will send gifts?
A. &av 1olc Oe0ig Bvomg, Sdpa TEUTOVOLY. C. &l toig Beoic BOoac, ddpa TEUYALEY (V.
B. éav 1oig Beoig Buomg, 0dpa TELYOLGLY. D. &l toig Beoig Obcac, ddpa Emepmov.
Translate: éEfv 1@ Zokpdtel SddoKeEW AvOpOTOVG.
A. Socrates had the ability to teach men. C. It was possible that the men teach Socrates.
B. The men taught Socrates what was possible. D. It was possible for Socrates to teach men.
What use of the subjunctive is found in this sentence: ofeitor un tadta Tomone.
A. fear B. conditional C. effort D. purpose
What use of the participle is found in the sentence AvBévtov tdv eilmv Toig Ogoic Bvouev?
A. indirect statement B. supplementary C. circumstantial D. absolute
Translate: tict tavTV TV EMGTOANV TEUYEWY HEAAELS;
A. To whom do you intend to send this letter? C. By whom did you intend this letter be sent?
B. By whom do you prefer this letter be sent? D. To whom did you prefer this letter to be sent?
What grammatical similarity do the following verbs have in common: dakob®, diokw, £68iw, Opam?
A. take datives B. lack passives C. deponent futures D. take genitives

Reading Comprehension: Refer to the following passage for questions 85-100.

Beginnings of Greek Civilization

ol makaitator v EAAM Ve mdvieg £618npo@dpouv. 1} yap toTe dionto obmm dc@alng fv- &mel kai o
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ANGTol TPOGEMITTOV TOAAAKIC TOAG TOAEST, KOl a)TOL 01 TOATTOL, OTTOTE SLoPOPEg oW gyotev, ov dikm
AL Plo TavTag dpovv. TpdTol 8¢ ol ABnvaiot kai GAAOL TIVEG KOTEOEVTO TOV oionpov, kol gig
(’xvsmévnVB paAlov dlaitav petéotnoay. Kol ai pev modotol Torelg 1V EAMvov dnelyov ig mheiotov

5 amo tiic Boddrng, ol yop olkioTal odTéV poBodvto TOVG ANoTdc. ai 8 vedtepar ol £kTilovio TOAAIKIC
€M’ a0TOIG TOIG aiylololg kai Toig io0pois, umopiag &veka. 1 Yap ANoTpikn 1j0€ TOTE Enémavto, HoTE
oVKETL £poPodvTo kel oikilecha.

Lriow: “with/against their neighbors” Saviepijvnv: (Properly perf. pass. of dvinui), “loose, easy”
karé0evro: 3" plural aorist middle indicative of xarariOnu

Vocabulary Aid (alphabetical order):

aiyrodog, -ov, 0: sea coast; diara,mg, 10: way of life kti¢m: to found, build obnm: (adv) not yet
beach dagopad, -ng, 1: difference, Anotig, Anotod 6: robber, npocsminto: to attack + dat.
avinuu: to send forth, loosen disagreement pirate 6idnpoc, -ov, 0: iron; (subst.)
anéyo: be distant/away from éumopro, -ag, 1).: trade Anotpua, -ng, 1j: piracy sword
dupéo (imperf. dujpovv): to  ieOpog, -ov, 6: isthmus pebioTnpuu to change (to) cdnpogopiw: to habitually
determine, decide kotoTiOnu: to put down; (mid) oikieTig, oikieTod 0: colonizer carry weapons
to lay aside
85. What degree is naAaitator (line 1)?
A. positive B. comparative C. superlative
86. According to line 1, why did Greeks carry weapons habitually?
A. to wage war B. it was not safe C. it was the bronze age D. to appear fierce
87. Which of the following is the best translation of £rei (line 1):
A. whenever B. since C. as soon as D. if
88. According to line 2, who or what was attacked by robbers?
A. cities B. ways of life C. justice D. pirates themselves
89. What tense is npocémintov (line 2)?
A. present B. imperfect C. future D. aorist
90. What is the best translation of 6ndte dopopdg...Exotev (line 2)?
A. because they will have disagreements C. whenever they had disagreements
B. because they might have had disagreements D. whenever they should have disagreements
91. To what does tavtag (line 3) refer?
A. moiitan (line 2) B. dwpopdg (line 2) C. tiow (line 2) D. éixn (line 2)
92. According to line 3, what contributes to the Athenian’s easier way of life?
A. fighting pirates B. rejecting violence C. influx of other people D. use of law and force
93. What is the best translation of paiiov in line 4?
A. must B. better C. rather D. to be about to
94. What tense is aneiyov (line 4)?
A. present B. imperfect C. aorist D. perfect
95. What is the best translation for mg mieictov (line 4)?
A. rather far B. too far C. furthest D. as far as possible
96. According to line 5, what did the colonists fear?
A. pirates B. the Greeks C. the cities D. the Athenians
97. What degree is vedtepar (line 5)?
A. positive B. comparative C. superlative
98. According to lines 5 and 6, why did were some cities founded on the shores and on the isthmuses?
A. for colonizing B. for protection C. for space D. for trade
99. What tense is énémnavto (line 7)?
A. imperfect B. aorist C. perfect D. pluperfect
100. According to the passage, what was the result of stopping piracy? Greeks no longer feared living
A. apart B. near the sea C. in cities D. without weapons
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